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The Messy Magpie Adding the Suffix -ed

Can you draw lines to match each verb with its -ed partner?

hop turned
crush hopped
reuse wanted
want stopped
carry carried
stop crushed
turn | reused




The Messy Magpie Adding the Suffix -ed

Can you drow lines to match ench verb with its -ed partner?

hop

crush

reuss

wont

carry

stop

turn

Now try to chonge these verbs by adding the suffix -

ook

start

droo

happen

P

turned

hopped

wonted

stopped

carried

crushed

rewsed
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lish
Read the story Winnie in space to remind yourself what happens.
Then answer these questions about the story.
Find the answers in the text.

1. What two words were used to describe the sky?

2. Why do you think Winnie wanted to go on an adventure?

3. What did Winnie take for the picnic for Wilbur?

4. What did Winnie shout?

5. Why did she shout it?
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In the Past

I tan nde e to the enc of o weed to create o ea word.

1. Draw [nies ta match the picture to the correct word and Jinish the serterze by adéng ed

m) Tino wash ___ her hancds.
b) Fay pick
@ ] We in the sand.
41 Jo 0 drirk.

va cthe Tous.




In the Past

I an odel od to the ent nj' o wird o create o new word.

1. Draw Is1es 10 match the piciure to the correct word and finish the senterce by ndeing wd

a) Tino wash her hands.

&

Puh bl Fay pick up the Toys.

] We in the sand.
41 Jo i 0 drink,
@ e) Jack the bell.
G@ £l Mum for the bus.




English

Find the words below in the story Winnie in space. Read the sentences they are in to
help you decide what each word means.

Then match up each word to the correct definition. The first one has been done for
you.

mysterious something that tastes of sugar
scrumptious feel happy

sweet tastes delicious

adventure a journey that is exciting or dangerous

glad something strange or unknown



Divide by 2

1 Complete the calculations and stem sentences.

) ARG A

SCOICONCT)

6 | = =2 I have apples altogether.
There are in each group.
x|2]=]° There are groups.

" @@

EREER e

12 | = -] 2 I have lemons altogether.
There are in each group.
x |2 ] =112 There are groups.

3333333333 32)33)3

16 | = =12 I have pears altogether.
There are in each group.
x | 2| =16 There are groups.

‘1433334

o [

24 | = = 2 I have cherries altogether.
There are in each group.
x |2 =24 There are groups.

[

COCOCDI

8 | = = | 2 I have oranges altogether.
There are in each group.
x|2|=18 There are _ groups.

© Primary Stars Education



Divide by 2

1 Complete the calculations and stem sentences.

* W vy

a

D D]DD ) DJ@ D0 0 D0 XD ) X2 X

][ @J Y _,;

I have ______ bananas altogether.
There are in each group.
x| 2]= There are groups.
b | “ .
000000000009
12 | = — I have lemons altogether.
There are in each group.
x |2 ]~ There are groups.
C 0/03)38)33)

16

There are

X

There are

pears altogether.

in each group.

groups.

dddd

232339393333 3I33 3

24 | = _ I have cherries altogether.
There are in each group.
x| 2]= There are groups.
aHHHHHEHEEEBHEHEB
& L30T CCICIIC 3 CIC ST 310
30| = _ [ have acorns altogether. |
There are in each group.
x 2] = There are groups.
© Prima

ry Stars Education



Divide by 2

L& B ¢

1 Complete the calculations and stem sentences.

* (34)4/43)33)33)33)33)33]143]133] 3333

I have cherries altogether.
There are in each group.
There are groups.

#-HHEEHHEHEHEHEHE

I have acorns altogether.
There are in each group.
There are groups.

2 Group the objects.

a Strawberries into pairs.

0060600000000 000¢

X =

b Apples into pairs.

QOOOOOOOOOOOO000

3 Sue and Will have 50 marbles between them.

They share them equally.
How many marbles will each child get?

There are sweets altogether.
There are groups.
There are in each group.

50

© Primary Stars Education
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Verb Sorting Activity

Can you write next to each verb whether it is the past or the
present tense?

kick

kicked

hug

hugged

walked

walk

smell

smelled




Verb Sorting Activity

eat

Can you write next to each
verb whether it is the past or

kick

‘1:nse?

kicked

hug

hugged

walked

walk

smell

smelled

-

ate

look




Verb Sorting Activity

Can you write next to each verb whether it is the past or the
present tense?

kicked

hug

hugged

walked

smelled J

looked I

ook

ate i

|

Can you think of 2 more verbs for both the past and the present tense?




English

Here are some words from in the story. You need to sort them into the 2 different

word types verb and adjective.
Remember
Verb = an action word

Adjective = a word that describes a noun

Words to sort
looked big dark shiny
packed landed peaceful meowed
shouted black unpacked spooky
An example has been done for you. The word looked is a verb.

Verb Adjective

looked




Divide by 5

1 Share the objects.

* 77 W

a 20 bananas shared between 5 monkeys.

))))D)DDD)
)2))))))))

20

b 10 apples shared between 5 horses.

HOOOO
BOOOE

10

¢ 30 acorns shared between 5 squirrels.

o o0 0606
P FIFIT
%% %%

30

d 25 sweets shared between 5 jars.

25

e 15 pencils between 5 tables.

LT

§ 40 fish between 5 fish tanks.
Cr @ Qo QG Q- Qe
Mo B B QP G R B
R (SR (S (A (SO (A S (3
Q- Q@ P QG W

“r
1
X
1

13
Lt
&
i
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Divide by 5 w* % W

1 Group 1p coins into groups of 5.
How many groups of 5, 1p coins do we need to make 20p?
One group of 5 has been completed for you. Draw the remaining coins to make 20p.

lots of 5 1ps = 20 1p coins.

lots of 5p = 20p.
20p = x 5p.

20p + 5p =

2 Answer the questions.

a There are 25 pencils shared between 5 children.

How many pencils will each child get?

b There are 35 sweets shared between 5 friends.

How many sweets will each friend get?

c 55p is shared between 5 children.

How much will each child get? p

3 Beth says,

- [ have 48 sweets. |
@ I can share these equally between my 5 friends.

Is Beth correct?
Explain your answer.

© Primary Stars Education



Divide by 5 * W

1

Complete the questions.

a How many towers of 5 cubes can you make from 25 cubes?

. . - . . You can make towers from 25 cubes.
SEREN f

. . . . . lots of is the same as 25.

= = = = = 25 is the same as lots of :

b If 5 sweets make one pack, how many packs can you make from 30 sweets?
\ \ Ay \ ..' You will need acks for 30 sweets.
SRR P
0.. \ 0.. \ ‘. lots of is the same as 30.
‘a, ‘@, ‘B, ‘B, ‘B,

'.. ‘.. \ ... '.. 30 is the same as lots of :

Share the objects.

a 40 acorns shared between 5 squirrels.

b 20 pencils shared between 5 tables.

L

a 7. | How many groups of 5 1p coins do we need to make
{@ @ @ 35p? One group of 5 has been completed for you.

Draw the remaining coins to make 35p.

lots of 5 1ps = 35 1p coins.
lots of 5p = 35p.

35p = X

35p + =

© Primary Stars Education



Changing Shape

Explore the objects on your table and record your answers by putting a tick or a cross in each column.

Can You Squash It? Can You Bend It? Can you Twist It? Can You Stretch It?

2, >

Object

Plastic bottle

Pillow

Sock

Paper

Pen

Towel

Spoon

Bread ‘

S ¥
g 3::._ it Science | Year 2| Uses of Everyday Materials | Changing Shape | Lesson 4
*
*

» vish twinit.com




Changing Shape

Explore the objects on your table and record your answers by putting a tick or a cross in each column.

The shape of most of
these objects could be

Object changed in some way.
F See if you can find 3
- - objects which can’t be
Plastic bottle squashed, bent, twisted

or stretched. Write them

Pillow /y\U .

Z
Sock Z
i it
———
Paper >
Pen e m
Towel W=
Spoon //l
Bread
> - -
’ M ﬁ~n.: it Science| Year 2| Uses of Everyday Materials | Changing Shape | Lesson 4
‘ vish .t_:r.,'n!: *



Thursday



¥
g WO PJUIMY JISIA

bop v Ind

34pnd ay3 o3 ob

UMOP 1009 03 JUIIP P]Od D 2ADY

'3U0 Y211
&IXau op 1M pIYo ay3 Juiy3 nofi op Joym 4

Julip 10y D aADY hayy asnnoaq
uns ay3
u1 burtuunu uaaq aapy fAayl asnnoiaq

JaWWNs ay3 s1 1 asnniaq

'2U0 3011 ¢30Y S1 PIIYD Y3 Jury3 nohi op Aiym g

uns

dn;

woy

iloy wo 1 nq unfs131 o
UNSaYyjui und umd 1 4z

"2U0 Y211 ¢dp] Yymm sawhyd paom yoym 'z

oYy v ‘dojayjoyjdoyumdy ¢~
okl ‘dojpuodojunog ;¢
bop » ndourpsubd [ ¢

‘auo0 Y211 ¢1nd P11y ay3 sa0p IDYM L o piwduvd [ ¢

suo1Isany Yomp 1ayjaboj pnay UD) T



g z fo 1 2bnd B

xxx hsivg

"J2am 1xau noh aas puv anoj Jo s3o
¢hsiog Jof A : 140 5307

awoy bunig ybrw Ainjy Furys nofi op a3 JoyYm ¢1DaJ] D WOy aw Butig j1m nofi agfinly noh

225 [ 2w} IXau poow Ja33eq v Ul ww I adoy 1 ‘fiop
Aw 30u 3sn[ s 3] j3,UDD ] 0s WooIpaq Aw U1 YD3] D S
aJay3 nq dn flasAw 1Yo 03 300q D PD2L 0} PAFUDM |
{punos pa. iJDawW 230Y [ puD M3js faaq S1 11 Da3 404 "W 03 Ynads

Yyl ynm spaom LSO% hdo>o pup ﬁ:._%._\-om ungy ‘g U2A2 ] UPINOM 3y SS042 0S SOm ppg ‘dwoy 100 I Uaym\

JD0D Mau Jay

yooq Jay

pD3] S,232d

"aU0 Y211 ¢YIPM 4y uo aso] Asiog pIp IYM 2 S3ADS] PUD PR U] PaIAAGS 106 333 “PDB

2y3 1s0] I INq YoM D Jof bop ay3 a3ad Jo0o3 [ ‘UayL
cay0uq fisiog iSppaq 2y3 11D 150] pub 2ID)Yo2uU uaalb Aw ayouq I
1D 29D7392U 2Y3 UO SPD3] U} 24M INOJOD JDUYM °L ‘Aopoy j30u wo T “unf buiapy aup noh polb wo |

suonsand ‘ho|y 42



Identifying Verbs

Circle the verbs in the sentences.

1.) |like to kick a ball.

2.) | kicked the ball to my
friends.

3.) Sometimes, | hug my
dog.

4.) Yesterday, | hugged my
brother.

5.) | walked to the shops.

6.) |like to walk to the park.

7.) The smell of coffee is
really nice.

8.) My toast smelled
delicious.



Identifying Verbs

Circle the verb in the sentences.

1.)1 like to kick a ball.

2.)| kicked the ball to my
friends.

3.)Sometimes, | hug my dog.

4.)Yesterday, | hugged my brother.

5.)1 walked to the shops.

6.)l like to walk to the park.

7.) The smell of coffee is really
nice.

8.)My toast smelled delicious.

9.)I looked out of the window.

10.) | like to look at the moon.

11.) Last week, | ate some
porridge.

12.) My sister likes to eat cake.



Ii

Look at your plan from Friday of the things in your story you are going to change. Here
are the sentences we filled in to remind you.

Then rewrite the story making the changes you had planned to make. Make sure you use
capital letters, finger spaces and challenge to add some extra adjectives.

Thursdays work as a reminder
I have changed Wilbur the cat to -

T have changed the word meow to

T have changed the word purred to

T have changed chocolate cake to

T have changed cherries to

T have changed cream to







Divide by 10 * W

1 Complete the questions. You may use equipment to help you.

a Doughnuts are sold in packs of 10. How many packs can be made?

20| + =

b Sweets are sold in bags of 10. How many bags can be filled?

S ss e e 0 e,
‘tYaslsaleee v e, 30| + =
‘sTesslese e e e,

¢ Towers are made from 10 cubes. How many towers can be made?
EEEEEEEEEE
@ d@dededee
EEfEEEEEEE 50 | = -
gc00ecde@eee
FEEErEEEEE

d Eggs are sold in cartons of 10. How many cartons can be filled?
000000006006

R haasdess 60 | ~ =
000606000068

e How many equal groups of 10 counters can be made?
0000000000
0000000000
0000000000
0000000000 a0 - )
000000000®0® =
0000000000
000000000O
0000000OC®OS _

© Primary Stars Education



Divide by 10 * * 17

1 Answer the questions below.

a Complete the calculation. b Complete the calculation.
1 1 !
o EE 10 = g +10 =
) /!
SIS IS SIS g
¢ Use the multiplication calculation d Use the multiplication calculation
to create 2 division calculations. to create 2 division calculations.
9x10=90 3x10=30
e Complete: f Complete:
ten + 10 = 100 + 10 =
60 + 10 = seventy + 10 =

2 Circle the mistake.

A 70 +10= 7 Explain your answer.

B Sixty +10= )

C Thereare | 7 |tensin 80.

© Primary Stars Education



Divide by 10

1 Complete the questions.

LB B

Eggs are sold in cartons of 10.
How many cartons can be filled?

When 70 eggs are sold in cartons of 10,

cartons of eggs can be made.

Draw a bar model below to show this.

2 I have 60p in my pocket in 10p coins.

How many coins do I have? Draw coins to show this, then complete the calculations.

X =
3 Complete:
a 70 +10= = 10= qQ
b _ +ten= seven Ninety + ten =
¢ There are tens in 70. There are tens in 90.
a ____ +10= 4 0 «+10=
b Forty +ten= _ +ten= zero
¢ There are tens in 40. There are tens in 0.

© Primary Stars Education



Can you circle the reasons why Muslims pray?

To get money. God told them to.

To show thankfulness to God.

To think about their life

Their parents told them to.

One of the five pillars of Islam.

To make teachers happy.



Can you answer these 5 guestions about why
Muslims pray?

Who does praying to Allah benefit?

What is prayer apart of that is important to Muslims?

Name one thing that Muslims learn from praying.

Who tells Muslims to pray?

What might they spend their time praying thinking about?




Write down as many answers as you can think of
for the reasons that Muslims pray.




Words of Kindness

Decorate the kindness word or phrase below. Underneath, draw a picture
showing a random act of kindness that matches the word or phrase.

—

Raiiung

This resource is fully in line with the Learning Outcomes and Core Themes outlined in the PSHE Association Programme of Study

0
W PSHE and Citizenship | KS1 | Random Acts of Kindness visit twinkl.com @
L\FE sy
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Maths

Read the multiplication problems below. Using your 2, 5 and 10 times tables solve the problem. You
may use the other side of the page to show your working out.

estio Use this side to show any working out
Eva is 7 years old.
Her gran is 10 times older.

How old is Eva’'s gran?

Eva’s gran is years old.

Question 2

) A sandwich costs £2 and ¢ box of crayons
costs £5

& =3

Jaock buys 5 sandwiches and 3 boxes of crayons.

How much does he spend in total?

Jack spends £

Question 3

How much money does Ron have?

Ron has p-

Question 4

Teddy has £8
Rosie has twice as much money as Teddy.

How much money does Rosie have?

Rncio hrc Fl -‘



Question 5
) Four children each have some money.

Teddy has this money.

1 have twice

as much money
as Teddy.

)

I have five times
as much money
as Teddy.

E |

I have ten times
as much money
as Dora.

How much money do they each have?

Teddy has 1p Dora has p

Jack has p Rosie has p




